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GM  4 1 2 6 3



n7,~lrn”Jiiun’7nJn~J~u;o

- - - - - - - - - -  ----___
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10 MhJ 120 Mhl

7,200 uln 86,400 IJin

0 0

3,600 43,200
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1 2- - -

1,400 2,800

240 480

2,160 1,080 720 540 360 180-. - -

2,400 1,560
-P=

1,440 1,500 1,800 3,060
m--p

3 4 6 12- -

4,200 5,600 8,400 16,800

720 960 1,440 2,880

460

40

30

24

20

10

5

60 '

120

180

240

300

360

720

1.440
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-4.
anni E O Q ,  = 24 co- =

cc (Cm)
L

.
. . fl%o = 3 Go

= 6-L  3

lUriflt&
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&;;u"u  EOQ  = K J; = 24.5$

viiyioali7u = 1 uln 4 u1n 10 yin ipo uin

Al
loo-c = 10 5 3.16 1

24.5 jg = 245 1 2 3 7 2 5
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1 uln 10 u7n 100 u7n 1,000 mn

10 77 25 8 2

5 0 173 5 5 17 5
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--

EOQm  =
J
ACO =,,gjg  zz  KJ~
Cc (Cm) -- -

K  = & =J2= = J140 = 1 1 . 8
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1,500  .

750

0 .
c 1 IJP
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Ccc (p--d)  _ TIC.
‘P -@- =O

CCC  (p-d)
ZP

Q2  =
2 PDC.

CCe (p-d)

Q = ELS =
4’
s . .!-.

f p-d

ELS= ‘+ -!f-  = 2 (9,000) (187.5) 36,000

e p-d (10)  t.21 (36,000-9,000)

E O Q  - s
f

; ELS = d= L
CC, p-d
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Q

TT(s(s
11
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T Q
= D

mclilnruijjiylii
t.>

(Q-M) = $

t2 = 6 (Q-M)

tinufii t2 ~J1ufiii$hiiaGiian

(Q-M) t$, = (Q-~12 tc,
2 ZQ
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unur;1  t ri?u  ,g

d;i = (Q-Ml3  ‘A
2D

D .M%TC,i;  = Co.-+++ ( Q-Ml2 C2
Q 2Q 2Q

= c rr + !El
‘Q  2Q

+ Q2C2-2  MQc2  + WC2
2Q

6TC 2 MC,- =-
6M 2Q

-c +z”C22 2Q =
0

= c3
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1:Wil  M = -%- .Q
c1+c2

Co  D- -
Q2

_ COD
Q2

_ COD
42

Qr

Q

-2*2+7- a?
2 (C,  + C,)Z =

0

- CH (Cl  +
2 (C1+C2)2

c2J zz - 4

= ----5Cf

2(C1+C2)  2

Cl c2- - -
= 2(C1+C2)

ce2.  cc,  + c,)
= Cl c,
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= h.2G8.500 = 2503.697

(LlYrulnl  = 2504 nliau)

lanlaiYilnlYw~n  = __2503.69
= 71.53 -&

35

iiUn’;nJflA”J~U?‘wllaluJ?ntloJnl~~~~  = 71.53 (35-25) ni;au

hhJf&iiLiri  = 7 1 5 . 3
2

= 357.65 Md7U

nl~RJyU’lUn^un;nJnnU~~~~~~~~~J = 357.65 x 10 = 3,576.50 LIln
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0

TC lx = 300) = (9,000) (15) + 9,ooo  (15)  + * (15)  f.20)  = 135,900 lJ1n
300 2

TC (S = 350) = (9,000) (14)  + y$? (15)  + = (14)  t.20)  = 126,875.7  uln2

TC (X  = 500)  = (9,000) (13)  + f$f (15) + T (13) t.20)  = 117,920 uin

"7Xl%&JJR: 500 Hli'IU  ~U5lnlMi~r~nr  13 Uln l:lhiib~uk~~n
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2 (400,000) (40) (3,200)
= J- .40 (.I01  (1,600)

4 0 , 0 0 0  ( - - - -3,200-1,600
z

(3,200)  (1,600)
1
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= (200) (3)

wk~i&~"&W~  = 600 Mti'lu

= (160) (f20)  + 4
(600) = y = 66.66 H\;?U

fiiu~udiuxumniifmipp  = Q - bf = 600 - 66.66

TC =

= 533.34 Ml.i?U  -RBU

DC + c, !? + MA + (Q;Q2 c8
Q 24

(8,000) (160) + (80) i**jj +
(~';lSo)  t.20)  (9'(,,

600 2 (600) - + 2(600')

1,280,000  + ?$!I!  + y-0 + 2y?

1,280,OOO  + 1,066.67 + 118.5 + 948.2

1,282,203.37  LIln

mau
-
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a..
NIlI Q z 24,000 Mti??~

C = 4 urn

D = 4,800,OOO  d3U

co = 120 u7n

Q c+J c

240,000 =
A/

2 (4,800,000)  (123

(4)  (Cc )

(240 ooo)2  ~ 2 (4,~00,000)  (120)
4 cc

cc 2 (4,800,000)  (120)

=  4  (240 ,000)  (240 ,000)
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Item No i Ci Qo CiQo- - -

1 1 500 500

2 2 200 4 0 0

3 3 200 600

4 .4 200 800

n7rRJ?urnrro’?ra~uluA’un;nJnRjs?u

CiQoi2

250

2 0 0

3 0 0

400

= 1 , 1 5 0  uln
-

Cr CL 2 DI Co
2 2 A/= ci cc - -

x CL 2 Di Co
2 2 LJ ci cc

=-
Tz

A Di 9 Co
2cc -

4
Dt Ci Cc__--.

2 cc
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~ -
Al Co dD*C,

ZG-= -. --
J-$ d/D&i

c

n-h’u a, = A
__-

.‘a CI
cm

hiimni+i 1/- 2
WI DlCi ai Cl- -

I 2,500 5 0 217.39 434.78 ~

2 1,600 40 173.915 . 173.915

3 3.600 6 0 260.87 173.915

4 6.400 80 347.825 173.915
-

230 1,ooo.oo 956.525
-

fil

CiQ, L- 2 Di  Ci Co
CC

C,Qo
5001

2 400 4

3 600 6

4 800 8

2,300 23
-
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TC = $- 1c QiCi + Co I: $

= '7 (2,000) + 10 (26.4)

= 464 UlM

QIC,-

434.78 5.7

347.83 4.6

521.745 6.9

695.66 9.2-
2.000.015 26.4.

-
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&u”u  CQlcl  - 1 , 0 0 0  = 0
2

minL=lO~~Qi + .lOI:Q,C$  + 1 (XQ+  - LOd

IODIg = - T,+  .lO c,  + ;%* e 0.
a

E
dzQ’-1000  = 0

2 ’ 0

9ln (1) WC;1  Q

Q J
20 Dt -=

cl (.20+ij CD

knuvii  Q ndu  (2)

20 Di
e A, (.20+1)

- 1,000 = 0

- -

J(&I x VCi Di zz  1,000

JS_ _  (230)
J(.20+1)

zz  1,000

d(.20 + i.1 = J-T=)
, 1,000

= (2.236) (230) = 514.28

1,000 1,000
= .51428

17n (3) “,~  Ci  nRO~
- -

QrCi  = J
20 Di Ci-
.2o+rl

- -
J20 ~

= J (.20+R)
4Di Ci

QiCi = =a 4Dick

I %5 4.472 (JO)
.- 2 = .51428  (27

= 217.4

QZCZ 4.472 (40) 173.9
2 =x-i%(2) =
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.

Qfcl 4.412 (60)
2 =xzim=

260.9

Q4c4 4.472 (id)= - -- = 347.6
2 31428 2

,019 = 217.4 + 173.9 + 260.9 + 347.6 =
2

1,000

iiun'immv~
Di

!3 s

1 434.8 6.7

2 173.9 4.6

3 173.9 6.9

4 173.9 9.2-
26.4

TC = $ I:  QIC,  + C, x z
i

= t.20)  (1,000) + (10) (26.4)

Qi Cimin L = .20X- +lO ED
2 Ql

+). 'x2 -20)

98 GM 412



-..... . . . . . . . . . . ..A)4L ’ Di
CQi

= .lO ci - 10
v

-A$ = 0 -.  .._...... .__.

6L
61

=\p 2 - 20 = 0 .._.,.'...

m (1) Hlfil  Q

Q =I JDi (10+1).lOCi  ‘...
tinufil  Q h (2)

x Di

J Dj (lo+l)
.I0  ci

= 20

= 20

1/  (lO+i.) = ++O)
2 0

3in (3) ~7 uici

s QCi- -
2

= Al (10+2)
.I0

%C

230 (501
=I -57 0 = 237.50

230 (40)=----- - = 230
20 (2)

= 'jo (60)--.
2p (2)

z 345

230 (801=
-iiT

= 460
(21

= 287.50 +230 +345+460 = 1,322.50

. . . ..A31
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Ql

TC=

=

3

=

Dl-
Q!

1 575.00 4.36

2 230 3.46

3 230 5.22

4 2.30 5.95

.20 l&322.50)  + 10 (20)

264.50 + 200

464.50 uln

1 0 0
.
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ihTimn1sn’ tmNiilJnl5n~y” mifiwniau

1 3,600 1

2 1.600 4

3 800 2

104 GM 412


